2nd Biochemistry Quiz (1st year)
Part 1.. Choose BEST answer:

1- Regarding lactose intolerance all the following are true, EXCEPT:
a- the disease is due to lactase enzyme deficiency

b- treated by remove lactose from diet

c- is very common in children

d- African & Asian are less able to metabolize lactose than individuals of northern European origin

2- regarding digestion of carbohydrate:

a- the digestion is slow

b- sucrase cleaves sucrose producing galactose & glucose
c- fructose uptake requires GLUT 5 for its absorption

d- isomaltase cleaves a(1(4) bond in isomaltose

3- Glycolysis occurs in:

a- mitochondria

b- rough ER

c- smooth ER

d- cytoplasm

4- Regarding pyruvate kinase deficiency all the following are true, EXCEPT:

a- the mutant enzyme shows altered kinetics

b- cause chronic hemolytic anemia
c- associated with increased level of lactic acid

d- the severity depends on degree of enzyme deficiency
5- glyceraldehydes 3-phosphate dehydrogenase enzyme needs:

a- co enzyme A
b- FAD
c- thiamine phosphate
d- inorganic phosphate
6- All the following statement regarding glycosaminoglycan are correct, EXCEPT:
a- play rule in mediating cell-cell interaction

b- they are unbranched heteropolysaccharide

c- formed from monosaccharide unit

d- they are negatively charged at physiological PH

7- all the following regarding the hyaloronic acid are true, EXCEPT:
a- non sulfated

b- covalent attached to protein

c- found in bacteria

d- serve as lubricant & shock absorber

8- Regarding adenylyl cyclase circle:

a- convert ATP into 5' AMP

b- protein kinase B is dependant on it

c- increase expression of specific gene

d- the only system by which hormone & neurotransmitter act

9- Aerobic glycolysis produce net energy:

a- 2
b- 4
c- 6
d- 8
10- regarding phosphofructokinase 1:

a- rate limiting enzyme of glycolysis

b- activated by elevated level of ATP

c- inhibited bi fructose 2.6 bisphasphate

d- low insulin\ glucagon level activate the enzyme
Part 2 … True or Fulse:
a- catabolism capture energy on form of ATP (T)
b- 2nd messenger is a signal receptor (F)
c- Human are unable to digest cellulose because it is contain b(1 ( 4) glycosidic bond (T)
d- Mucin is an example of glycoprotein (T)

e- Heparin is a disaccharide unit composed of glucuronic acid & galactose (F)

Good Luck
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